o UC/T;'ELL&'(./ Johneon: 0ld “‘D:;lfg.} eyam +3 |
__T:: I_f An unfavorable cost variance occurs when b_u@/a_g_gcdu;stt at actual volume€ exceeds Ectual cost. F_-zjr Vo{ab L4

E % Standard costs should be revised when they differ from actual costs. (JUS 3 W

% \)&w INLSS
__'L_ a . The standard cost is how much a product should cost to manufacture. a WW W
Mu thple CUhoree. Srarddnd.

g t 4, e.n‘es of budgets for varying rates of activity is termed a(n):
c

Aoy

flexible budget
variable budget
master budget

C d. activity budget ‘
5 first budget stomarily prepared as part of an entity's master budget is the:
a. production budget
b. cash budget
sales budget B
‘E’ - direct materials purchases
{z- For January, sales revenue is $600,000; sales commissions are 5% of sales; the sales manager's salary is
$96,000; advertising expenses are $80,000; shipping expenses total 2% of sales; and misce]laneous selling
expenses are $2,100 plus 1/2 of 1% of sales. Total selling expenses for the month of January are:

2. $157,100 Co (o00 000 %08 20,000
mm (0D,

Y Stls pun Sl " Aebop

d. $182,100 é'dv'f;x(o"{ac)?DDDf*a ~Z2.000
1bh@h%%o]

owIng uasge?é? ‘CD!? BI50

\B =2 The production budgets are used to prep‘;;lé

a.  Operating expenses Totet . ’223 OO )
@ Direct materials purchases, direct labor cost, factory overhead cost g
c. Sales in dollars
d. Sales in units
$ ' g The following data relate to @_irect labor costs f})r the current period:
Standard costs 7,500 hours at $11.60

Actual costs 6,000 hours at $12.00
What is the direct labor time variance?
a.  $3,000 favorable j} ]

b. $15,000 unfavorable
c. $2,400 favorable P \

$17,400 favorable —bc,h e M
SA )RS
Cﬂmﬂ? Rotc
15066000 \x 11.60
H3 A
500 Hr = X)) (D= (7. Y0 =



B

B

) Wright Corporation began its operations on Sept

The standard costs and actual costs for direct materials, direct labor, and factory overhead for the
manufacture W product are as follows:

Standard Costs

Direct materials 2,500 kilograms @ $8
Direct labor 7,500 hours @ $12

' Actual Costs
Direct materials 2,600 kilograms @ $8.75
Direct labor 7,400 hours @ $11.40

Factory overhead (100% capacity - 10,000 hrs.):

Variable cost @ $2 per hour

Total variable cost, $18,000 b I\‘? -
Fixed cost @ $.80 per hour ] F
Total fixed cost, $8,000 VAR

b $800 unfavorable

¢. 3800 favorable g G}h‘/

The amount of th€ direct materials quantity variance)is: (‘

a. 3875 favorahle S"A_ Kg:"f
Ce.

d. $875 unfavorable 2500 ~2Uo(0ke) § =

mber 1 of the current year. Budgeted sales for the first three
months of business are $240,000, $300,000, and $420,000, respectively, for September, October, and
November. The company expects to sell 20% of its merchandise for cash. OFf sales on account, 70% are

expected to be collected in the month of the sale, 25% in the month following the sale, and the remainder in
the following month. The cash collections fron{(accounts receivable in Septembenare:
a. $240,000 S _ :

—=pF

$134,400
@ $192,000 Cadh Sales NA

d. $168,000 ' = [BY400O
C»!L&tﬂ"aﬂs 6 Acet. zk.lo,GCD)LQCJZGmaOC#“%-?”? C,ﬂ"Cq-&

C/ .ﬂ -Thc standard costs and actual costs for direct materials, direct labor, and factory overhead for the SIC‘J}I’\E. Mo

manufacture of 2,500 units of product are as follows:

Standard Costs -
Direct materials 2,600 kilograms @%8.75
Direct labor — 7,400 hours @ $11.40
Actual Costs
Direct materials 2,500 kilograms @ $8
Direct labor : 7,500 hours @ $12

Factory overhead (100% capacity - 10,000 hrs.):

Variable cost @ $2.08 per hour

Total variable cost, $18,720
Fixed cost @ $.83 per hour bM
Total fixed cost, $8,320

z o - “Prce
The amount ¢F direct materials price variance js: @ Ta'f)
a. 51,875 un 3

b.  $1,950 favorable R S—Pr) X A‘,

@ $1,875 favorable N
$1,950 unfavorable .’)S-"'? a X R

Al



C,aSh Mn'l:ﬂ CLBIT 52
_“'A’ Same Mo.  Bollawing Ho .
) !-;)..* Kidder Company began its operations on March 31 of the current year. Projected manufacturing costs fet the
- first three months of business are $156,800, $195,200, and $217,600, respectively, for April, May, and June.
Dapr@b?ﬂi Hnsurance, and property taxes represent $28,800 of the estimated monthly manufacturing costs.

d on March 31, and property taxes will be paid in November. Three-fourths of the
id i month in which they are incurred, with

payments for manufacturing 1 the month of May

Insurance was pai
remainder of the manufacturing costs are expected
the balance to be paid in the following month. The cash

are: ot
| TN
sscso ol e idsash  AlCS R 290

c. $166,400 s5 pon Cﬁ-ﬁh 8.800) 23 8007 (|2@EL}'J£ 525 ‘9
C 4. $146,400 prod Cvglé be. TZTO0D LH 400 P A AL
S ‘3 Which of the following conditions normally woudicate. that standard costs should beT d? xﬁ{

a. The engineering department has revised prodiict specifications in responding to customer in

suggestions. =.A
b. The company has signed a new union contract which increases the factory wages on

average by $2.00 an hour. = .
o) Actual costs differed from standard costs for the preceding week. NOF necessan b‘a

” The world price of raw materials increased. — A

C/ wl Which of the following budgets provides r the preparation of the direct labor cost budget?

I a. Direct materials purchases budget BG Sed o #H—

b. Cash budget
Production budget ¥ ”’S +o be

Sales budget -

=

&

ﬁ % The following data relate to direct labor costs for the current period:

?:;ﬁrd c?sts 6,000 hours at $12.00
costs 7,500 hours at $11.60

What is the direct labor rate vaﬂa@? DL—
3. $15,000 unfavorable
@ $3,000 favorable O.J'e_
¢. $17,400 unfavorable
d. $2,400 favorable S /AD Pf'
S o |60 ) X TSOO = JwoF

YO F. . ;
%’: l‘{, Mancini Corporation gells a single product. Budgeted sales for the year are ﬁ:lmpatcd to l?c 640,000 un}tfs,
estimated beginning inventory is 108,000 units, and desired ending inventory 18 90,000 units. The quantities

of direct materials expected to be used for each unit of finished product are given below.
4o begold A0

. Fodl s
-)F.Material A 50 Ib, per unit @ $ .60 per pound 1 pes. Bl ) )
Material B 1.00 Ib. per unit @ $1.70 per pound ; / \
Material C 1.20 1b. per unit @ $1.00 per pound -— %eﬂ [y <f08 N;)/
[he amount Mtaﬂal A purchased during the year is: ‘
T 186600 = el Hntts o be famdm#(oz,z.oa
b. $181,200 _—"

ol Madennol A #6220 %5 s X .loojf%w
%w = gar Ik perfb !



L ["7 Below is budgeted production and sales information for Fleming Company for the month of December:

Product XXX Product ZZZ
Estimated beginning inventory 30,000 units 18,000 units
Desired ending inventory 32,000 units 15,000 units
Region I, anticipated sales 320,000 units 260,000 units
Region II, anticipated sales 190,000 units 130,000 units

The unit selling price for product XXX is $5 and for product ZZZ is $14. Budgeted production for product
XXX during the month is: :
. a. 510,000 units
b. 512,000 units
c. 542,000 units
d. 572,000 units
. _/g. McCabe Manufacturing Co.'s static budget at 8,000 units of production includes $40,000 for direct labor and
$4,000 for electric power. Total fixed costs are $23,000. At 9,000 units of production, a flexible budget
would show:
variable costs of $49,500 and $25,875 of fixed costs
variable costs of $44,000 and $23,000 of fixed costs
variable costs of $49,500 and $23,000 of fixed costs
variable and fixed costs totaling $75,375

pop P



e

- BoblemS —

Standard costs and actual costs incurred for the manufacture of 8,000 units of product were as follows:

Standard Costs Actual Costs
Direct materials:

8,000 Ibs. @ $30.00 7,750 1bs. @ $30.20
Direct labor: 10,000 hours @ $36.00 10,250 hours @ $38.00
Factory overhead:

Rates per direct labor hour,

based on 100% capacity of

16,000 labor hours:

Variable cost $15.00 $189,400 total variable cost
Fixed cost $10.00 $100,000 total fixed cost

Determine (a) the quantity variance, price variance, and total direct materials cost variance; (b) the time
variance, rate variance, and total direct labor cost variance:

*_ Based on the following production and sales data of Concrete Co. for March of the current year, prepare (2) a

sales budget and (b) a production budget.

Product T Product X

Estimated inventory, March 1 27,000 units 21,000 units
Desired inventory, March 31 32,000 units 15,000 units
Expected sales volume:

Areal 310,000 units 250,000 units

Area Il 190,000 units 130,000 units
Unit sales price %6 $14

. Trapp Co. was organized on August 1 of the current year. Projected sales for the next three months are as

follows:
August 5100,000
Saptemhgr 185,000
October 225,000

The company expects to sell 35% of its merchandise for cash. Of the sales on account, one third are expected
to be collected in the month of the sale and the remainder in the following month.

Prepare a schedule indicating cash collections for August



Dore in LASsHo o@%
 _Haehee BoblamsS -

D B

s m% Lsﬂi%e»sﬁ___ B

&m P/u'_,q_ Prwe Cn\—ué{

Bf:) 0L 'i-f o

W-Tp)* 30 (30-8020) x 7750
L2 O

b=

.,Lio =x=3c 3y

IEN

IS00 =

fs ;«%8 | 5*/*3%__74:_____ =

(oooo 102‘5@"@36’& Qﬁéﬁéﬁﬁ)‘x (0TS0 nr? R

::pr IW

,_,__O‘COD__U - 2050 FF S




(DiSaleg Budt ] .
_ - X
Salke Vdume, o
Myea | Bloood 250,000
4 190 D00 130,00
— JUnis o be Solde B500.000 = 220 O0) )

-

xiseding paee X
=

(4

3000000 |

IS, 000

(B Prodachon Bodger (
| I X
VA 4D be Sald 5m.000¢- s 3spoD
LDes. =1 S2006 )
) ) £ 2:7@005 _ Q’ ooy
~ ar@‘c:a me@d EQM 314000



Codh Salss.

QCo!{f_c:th m Accg—

100.0ET%X 35S
(@ Wug% 5)

Ca..Sh

s 08) 21ble 1

—"\.’"

e

(00 c,w‘da

< x 2 onacy

L(aghn I

. S—

lScoox s

%

Selbl



Yovew B et Shmady”

[ - Chapter 19 Alternative Demonstration Problem |

Major Company began operations on January 1, 2013. Cost and sales information
for its first two calendar years are summarized below: ,

Manufacturing costs:

Direct materials $50 per unit
Direct labor $25 per unit
Factory overhead costs for the year:
Variable overhead $10 per unit
Fixed overhead ' _ Cﬁmﬁ‘) — |00.00D= O PU' -

Nonmanufacturing costs:
Variable selling and administrative ~ $10 per unit
Fixed selling and administrative $5,000,000

Production and sales data:

Units produced, 2013 100,000 units
Units sold, 2013 80,000 units A=22000
Sales price per unit $500 per unit x (0
Required: 200,000
1. Prepare an income statement for the company for 2013 under absorption
ting. .
2 ;?:pl:i an income statement for the company for 2013 under variable
costing.
Ab sorphon vV
Solel Yoomuap = 4o0od Sub g Ho.000,000
d (504250 b 800,000
~(06S O%00x 5= T.bovopy  —VE ml m’“’aﬁm"’> 800000
N N Yo
32400000 M %, G000
LF
V.g{"m Ad % 0 C}(“;O =z pmd(@ﬁ) - (. OO0 OO0
" A : - -
C{) E?CP ‘gﬁof'jé/ léﬁ% < 000 Otﬁf.} - | m_{;vr/\:w{ S 000 OO0
N 2660 D) 4 b 26400000
@ DA + DL + A FO H i e

Ny 2% [O4= ‘O = QS A SEEOOYY ™Y



Additional Problems for extra practice
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Chapter 20 Alternate Demonstration Problem #1

ABC Company started business on January 1, 2013. The company
estimated that sales for the first six months would be as follows:

Month Units Dollars
January 10,000 $ 50,000 = ~
February 8,000 40,000 - -.
March 15,000 75,000 |,

— Al Mooy §5000

The company sells all items 'Con accounf Jand expects collections of
accounts receivable to be as follows: 60% in the month of the sale, and the

remaining 40% in the month after the sale. AR

Required: % XLQ ?
‘ . nis Mo Nexe+ Mo
(a) Compute the expected cash collections during the months of January,
February, March,.

(b) The company has decided that finished goods inventory at the end of
each month should ideally be equal to 40% of next month’s sales. What
should budgeted production be for each of the first famr months?

(c) It takes two pounds of raw material to make one unit of finished
product. The company wants to keep an ending inventory of raw
material equal to 30% of next month’s production needs. How many
pounds of raw material should be purchased in each of the first three
months? The raw material costs $2 per pound. Prepare a raw materials
purchases budget for January and February. Pmdﬂ(,—fwr\ budset™

J B o4 (B

Vgpooo) a0 oo

o) o 2o S i
| | ey 29 10V -0 0|,

Flwom) X 2o ooto T T T
L =0, oy, -~ do Y 13200 0&0D

M (Wa@ ¥ N k&z} *;’QOO
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Chapter 21

XYZ Company manufactures tables. A standard cost card for the
manufacture of one table shows the following:

Standard Cost per Table:

Direct material: 4 sq. ft. @ $3/sq. ft. $12
Direct labor: 2 hours @ $8/hr _16
Total prime costs $28

In November, the company produced 1,000 tables.(Actu'éiqj‘nruduction took
Z,Q,QMirect labor hours and(3,90 )square feet of lumber. The lumber cost
$"I-2,£)30“while the workers’ average pay was $7.80 per hour.

.

Required:

Calculate the price and quantity variances for direct material and direct

labor. oo tnbdnesd
- _ S AS / SAd
(S-A)-sH D). A
- C @J)’d P\{\M" (Sp;qﬁﬁv X @‘h(:( :
BE1000) % 33— 3“) ) X A
Apbh—3900 azmi,—ﬁﬁc@

O Fxd
00 E - =00 X 380D

= 3daoU "
AL — - "/

Pl % s A
(5-K), 87 77 S A)x
Lﬂw?( o
# (ppo%A= 200 — 2200 U "
o 2000 X 8 PO &



